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(@ How does a production possibility curve (PPC) used
to explain the concept of scarcity, choice and
opportunity cost ? What are the reasons for outward
shift in PPC ?

(b)  Find the equilibrium market price and equilibrium market
quantity for the following demand and supply
function :

Demand function : P = 192 — 3Q

Supply function : Q = 2P - 20 10,5

(37) EW AN, T97 T ANAT H1 STEUROT T
T FA H IR GUE aF F ITA G
YR B §?

(@) Frefefen w wd 9ff wom @ omER g
FNA T WS @ HIE
"I W : P = 192 - 3Q

qfd weH : Q= 2p - 20

(@ Using suitable diagrams, explain the effects on the

demand of X commodity, if :
(1) the price of the substitute commodity Y rises

(#) "the price of the complementary commodity Z falls

(ifi) income of the consumer rises.
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What do you understand by price control ? What is
the difference between effective price floor and effective
price ceiling ? 6.9
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Explain the concept of income elasticity and cross price
elasticity. Also explain how the nature of a commodity
is determined by positive and negative values of
income elasticity. :
Income elasticity of demand of a milk is equal to 1.5.
If the income of the consumer rises from 10,000 to
20,000, how much will the demand of milk be increased
if the initial demand is 50 litre pér month ? Use average
method of calcilating Income elasticity of demand. 9,6
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(@  What are the three stages of production ? Why should

a firm produce only in second stage of production ?

(b)  Using suitable diagrams, describe relationship between
average cost, average fixed cost, average variable cost

and marginal cost. 7.8
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(@  Explain the short term all equilibrium conditions of a
' perfectly competitive firm. Will a firm necessarily close
if it is incurring losses ?

(b) How is the supply curve of a competitive firm derived ?
Explain. ? 10,5
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A firm und
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Explain the following using suit

necessary :

Determinants of elasticity of demand

()

()  Properties of indifference curve A

() Long run supply curve of a constant cost competitive
55,5

" industry.
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